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The ratio of income of A and B is 3:4 .If the ratio of expenditure of both
IS 2:3 and each save Rs.200 Fm%the Income of both A and B?
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¥ Rs.7800 distributed among A,B and C.The share of A Is 3/4 th of the shar€= =
of B , and share of B is 2/3 th of the share of C.Then ,Find the difference

between share of B and C?
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~ Rizwan has a box in which he kept red and blue marbles .The red =
marbles and blue marbles were in the ratio 5:4 .After he lost 5 red
marbles the ratio became 10:9 .How many magbles does he have now ?
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« A.81 B.86 C.76 D.None




A man divides his property,so that his son’s share to his wife’s and
wife’s share to his daughter’s are both as in the ratio 3:1.1f the daughter
gets Rs.1008 less than son , then the value ( In rupees) of the whole

property Is. .
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The income of A ,B and C are in the ratio 2:3:4 and their spendings are in the
ratio 5:6:7 .If A saves 1/4™ of his income,then the savings of A ,B and C are in

the ratio of:

A, B 3R C P! 31T & 3JUTd %3:4%3ﬁ?\5~|co|«m°5:6-7 & SUd H B
Ul A ST 3 BT 1/4 SAIAT 8, dl A, B 3R C B §/d & P 3urd B:

A.69:56: 48 B.47:74:99 C.37 : 72 : 49 D.None




Annual incomes of Amit and Varun are in the ratio 2:3, while the ratio of
their expenditure i1s 5:3 .If at the end of the year each9 saves Rs.1000,the

annual Income of Amit Is.
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Ratio of income of A to that of B Is 5:9 .If expenditure of A is 3/8 th of
his income and expenditure of B is 4/9t" of his income and sum of their

savings Is Rs.1950 then find the difference between their income?

A I DI B BI 31 Y U 5:9 § | TG A DT TY JP! 31T P
3/8 91 § MY B.T oY 3] 311 BT 4/9 i @R\ﬁcﬂ SERKCAKIE
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* A.Rs.900 B.1000 C.Rs.880 D.NONE




A milkman makes 20% profit by selling milk mixed with water at Rs.9. per I|t If

the costpriceof 1 L og]%:o ddlcdl Uil BIPS ¢4 9 =YY 0 STPR 20% TH
HHTAT g | Ul eflex | afd 1 oiier Jg g8 &1 il Jed 10 394 &, d 4T Y
ﬁ[%FUTﬁ@H 3R Ut &1 S{qUId g:re milk is Rs.10 ,then the ratio of milk and
water in the given mixture Is:

'« A.3:1B.4:1 C.3:2 D.None




94 is divided into two parts in such a way that the fifth part of the first
and the eight part of the second are In the ratio 3;4 . The_first part Ig
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The price of a refrigerator and a telivision set are in the ratio 5:3 .If the
refrigerator costs Rs.5500 more than the television set. Then the price

of the refriger 3%Rls
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SSC GD 2023 (AW ddl bT HTHA)

In 30 litres mixture of acid, the ratio of acid and water is 2 : 3. What
amount of water should be added to the mixture so that the ratio of acid

and water becomes 2:5?

TiaE % 30 sfex fasor ¥, viere sie ot &1 st 2: 3 g1 fReqor / aret it
HT=T fFaet AT AT T aTfeh T SiiK a7 SIaTa 2: 5 g7 STe?

(1) 10 litres
(2) 15 litres
(3) 18 litres
(4) 12 litre:s




Zinc and copper are in the ratio of 5 : 3 in 200 gm of an alloy. How
much grams of copper be added to make the ratio as 3 : 5?

STEQT ST T T sy &1 % 200 A9 H 5: 3 & SIUTT | gl AqITq 3: 5
AT % forg fovaaT o e e srar g2

(1) 133 (1/3)
(2) 1/200
(3) 72

(4) 66
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SSC GD 2023 (AW ddl bT HTHA)

A mixture contains alcohol and water in the ratio 4 : 3. If 5 litres of
water is added to the mixture, the ratio becomes 4:5. The
quantity of alcohol in the given mixture is

Rrsor H Srehiger 3 STeT & quTd 4 : 3 rar g1 T AT § 5 #ieT
WﬁWWEﬁW45€[W§I faw 7 fysror A BeFilteesd

L (2) 4 litres

(3) 15

litres

(4) 10
- litres @9




SSC GD 2023 (AW ddl bT HTHA)

A and B are two alloys of gold and copper prepared by mixing metals
in ratios 7 : 2 and 7:11 respectively. If equal quantities of the alloys
are melted to form a third alloy C, the ratio of gold and copper in C will
be ;

ASTIT B ¥ 7: 2 3T 7:11 & SIATT | ATEAT il THATHT dIT I 31T
qie o < for § | afe sy grgetl it a0 /g e S A ?){\17\’; 5
I AT =T 8, O |/ A Sl qie T ST T gINIT? ( '

(2)5:9
(3)9:5
(4)5:7




SSC GD 2023 (AW ddl bT HTHA)

A vessel is filled with liquid, 3 parts of which are water and 5 parts
syrup. How much of the mixture mus't be drawn off and replaced with
water so that the mixture may be half water and half syrup ?

T T a3 § 9 g3l g, Foras & 3 9T 91+t 3T 5 9 e g1 fsror =1
fohaaT wTr fAereT ST |, ST g | AT ot S, 16 fstor s
qT=T A 3T AT g1 STe 87 (1) 1/3

(2) 1/4
(3) 1/5
(4) 1/7




SSC GD 2023 (AW ddl bT HTHA)

A can contains a mixture of liquids A and B in the ratio 7:5, When 9
litres of mixture drawn off and the can is filled with B, the ratio's of A
and B becomes 7 : 9. Litres of liquid A contained by the can initially

was-

TF FAEAL A I 921 A iR B 07 & S(quTq 7:5 94 §, ST 9 #1e<
T AT STaTg ik B e STaTSITaT g aTA IR B & Fquma 7 : 9
gl 1A gl [F | Faea< ¥ Afhae «fie< 91- (1) 10

(2) 20
(3) 21
(4) 25




SSC GD 2023 (AW ddl bT HTHA)

The proportion of acid and water in three samplesis 2 : 1,3:2and 5 :
3. A mixture containing equal quantities of all three samples is made.
The ratio of water and acid in the mixture is :

AT TS T 31T 3T ST T AquTa 2 : 1,3:2 30X 5 : 3 g Ai+A1 dusr v
THTH AT ATAT TASOT FA7AT SATAT g1 07 § Ster 3T 31T 7 SaTd 7T

arm -

(1) 120 : 133
(2) 227 : 133
(3) 227 : 120
(4) 133 : 227




SSC GD 2023 (AW ddl bT HTHA)

In two alloys A and B, the ratio of zinctotinis 5:2.and 3 : 4
respectively. 7 kg of the alloy A and 21 kg of the alloy B are mixed
together to form a new alloy. What will be the ratio of zinc and tin in the

new alloy ?

ARTAIRBARF I AR ATITT5: 28, AT 3 : 4 FAT:. AT ATTAF
T Thelr ST o &g B % 21 fovett O 9 [ T o) o AT A ag

yTe grar g ¢ Ay arq # i i< feo &7 srequma =#=am g ? (1)2:1
(2)1:2

(3)2:3
4)1:1




glass they are mixed in the ratio 6 : 1. In what ratio should the
contents of the two glasses be mixed together so that the new mixture
contains milk and water in the ratio 1:17?

TF M A g iR S Aura 3: 5 iR g M & Aquma6: 1 #
At g1 <7 Rt i o g e aqara § e s =gy arfs /g
Tor=ror 9 g 3 aTit ST 1:1 § 81?2

(1)20:7
(2)8:3
(3) 27 . 4
(4)25:9




SSC GD 2023 (AW ddl bT HTHA)

Acid and water are mixed in a vessel A in the ratio of 5 : 2 and in the
vessel B in the ratio 8 : 5. In what proportion should quantities be taken
out from the two vessels so as to form a mixture in which the acid and
water will be in the ratio of 9 : 4?

A TATIA R AT AR 5. 2 TIT I B F oa1q 8 : 5 & %@ g1 =0

RIEICRE LGN K E I CEIS IR IC m%qar%wﬁrwfremram

T AT 9:4 AN ? (1) 7: 2
(2) 2: 7
(3)7:4

(4) 2: 3




SSC GD 2023 (AW ddl bT HTHA)

Tea worth Rs. 126 per kg and Rs. 135 per kg are mixed with a third
variety in the ratio 1:1:2. If the mixture is worth Rs. 153 per kg,

the price of the third variety per kg will be?

1T 126 TIT I fFar 3fiT 135 wqq wia e & srquma § it hea &
ary At gt 21 Tt fsror 153 sau i fhar g ar dadr e it fima

yfa far gt
(1) Rs.

175.5
(2) Rs.
180.0




SSC GD 2023 (AW ddl bT HTHA)

A container contains 60 kg of milk. From this container 6 kg of milk
was taken out and replaced by water. This process was repeated
further two times. The amount of milk left in the container is
T Heq< § 60 fFat g g1 30 Fe< 9 6 faratt 3o s w=r s et &
FI AT AT S TIHAT Fl 3T T AT AZUAT ST AT A< § a9 AT
U T |HTAT 7T gAY ?

(1) 34.24 kg

(2) 39.64 kg
(3) 43.74 kg
(4) 47.6 kg




